

18

121

$$\left(\frac{1}{2} + \frac{1}{4} \right) = 1 \quad (1)$$

$$2 + 10 + 10 + \frac{1}{2} = 10$$

$$2 = 10 - 10$$

$$2 = 2 + 0$$

$$1 - 2 = 0$$

$$2 = 0$$

$$2 + 10 + 10 + \frac{1}{2} = 10$$

(2)

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$(2 + \frac{1}{2} - \frac{1}{2}) - (1 - 2 - \frac{1}{2})$$

$$2 - \frac{1}{2} + \frac{1}{2} + 2 - \frac{1}{2}$$

$$2 - 10 = \frac{1}{2} + 10 - 2$$

$$2 = 10 - 10 \quad (3)$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

(4)

$$\left(\frac{1}{2} + \frac{1}{4} - \frac{1}{4} \right) = 1 \quad (1)$$

$$\left(\frac{1}{2} + \frac{1}{4} - \frac{1}{4} \right) = 1$$

$$2 + 10 + \frac{1}{2} + \frac{1}{4} = 10$$

$$\left(\frac{1}{2} + \frac{1}{4} - \frac{1}{4} \right) = 1 \quad (2)$$

$$1 - 10 + 10 = 0$$

$$\frac{10}{1 + 10} = 10$$

$$\frac{10}{1 + 10} = 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

(5)

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

$$2 = 10 - 10$$

1, 2, 3

2

2

$$v_c + 1. = 4.8 - 7.$$

$$c = 10.2 = 3$$

$$0 = v_1$$

$$0 = v$$

$$v_c + 1. \cdot \frac{0}{1} - (c \cdot x_0) = 2.6$$

$$9 \cdot (5 + v_1) - 1. =$$

$$(c_0 + 0.1 - 1.)$$

$$c_0 = 2.3$$

2

$$(1.7) - 5 \times 6 \times 7 \times \frac{5}{4} = 1(1 - 1) \quad (2)$$

$$\frac{10 \times 1}{5} - c_0 = 1(1 - 1)$$

$$1c - c_0 =$$

$$1c_0 = 1(1 - 1)$$

$$10 = 1(1 - 1)$$

$$0 = 1 - 1$$

$$7 = 1$$

8

$$(9) \times (1.7) \times (1.0) \times$$

$$\frac{1.8 \times 9}{5} \times 7 \times 0$$

$$1.8. = 3.7 \times 3.$$

2

$$D = v_c \cdot \frac{0}{1} - (1.5) \cdot \frac{0}{1}$$

$$D = \frac{0}{1} (1.5) - (1.5) - (1.5)$$

$$D = (1 - 1.5) - 3 - 1$$

$$D = 1 + 1.5 - 0$$

$$= 7 - D + 1.5$$

$$= (c - 1)(3 + 1)$$

$$c = 1 \mid 3 = 1$$

2

2

$$f(x) = (1 + x)^n$$

$$1 + x = 1 \quad x = 0$$

$$1 + x = 1$$

$$x = 0$$

$$f(x) = (1 + x)^n$$

$$x = 1.1$$

$$x = 1 + c$$

$$x = 0$$

$$f(x) = (1 + x)^n$$

$$f(x) = (1 + x)^n$$

$$x + 0.6$$

$$x = 1$$

21

(P)

$$a = \frac{10}{\pi} = \frac{10 - a}{1 - a} = 8$$

$$\frac{8}{0} = \frac{1}{\pi} = \frac{1}{8}$$

$$\frac{8 - 1}{8} = \frac{7}{8}$$

$$\frac{8 - a}{0} = c$$

$$8 - a = 1$$

$$a = 7$$

$$a + \sqrt{p} = \sqrt{q} \quad (P)$$

$(\sqrt{p}-\sqrt{q})$	$(\sqrt{p}+\sqrt{q})$	$(\sqrt{p}-\sqrt{q})$	$(\sqrt{p}+\sqrt{q})$	$\sqrt{p}$	$\sqrt{q}$
1	1	1	1	1	0
1	2	2	1	1	1
1	3	3	2	0	1
1	4	4	3	1	0
1	5	5	4	0	1
1	6	6	5	1	0
1	7	7	6	0	1

$$p = 6, q = 5$$

$$12 \times 7 - 1 = 0 \quad p = 12$$

$$12 = 12 - 1 = 11$$

$$\frac{12}{12} + \frac{11}{12} = \frac{23}{12}$$

$$\frac{1}{12} = \frac{17}{12 \times 12} = \frac{17}{144} = \frac{1}{8.46}$$

~~Handwritten text~~

Handwritten text

Handwritten text

$$\frac{c}{0} = p \quad c = 1$$

$$\frac{c}{0} = \frac{1}{0} = \frac{1}{0}$$

$$\left(\frac{c}{0}\right) \left(\frac{c}{0}\right) \left(\frac{c}{0}\right) = 1 = 1$$

$$\left(\frac{c}{0}\right) \left(\frac{c}{0}\right) \left(\frac{c}{0}\right) = 1 = 1$$

$$\frac{1}{0} = \frac{1}{0} \times \frac{1}{0} = \frac{1}{0}$$

$$\left(\frac{1}{0}\right) \left(\frac{1}{0}\right) \left(\frac{1}{0}\right) = 1 = 1$$

$$(1 \geq 1) \geq 1$$

$$\left(\frac{12-1}{12}\right) \geq \frac{12-1}{12}$$

$$(1 \geq 1) \geq 1$$

$$(1 \geq 1) \geq 1$$

$$(12-1) - 1 = 11$$

$$12-1 = 11$$

$$12-1 = 11$$